TS EEREENX THEE

(BAL:TH)
B H | i =
SEILA 3,910 —fk-HKRESE
R IENIUN 500] Zft4
NS IRGENENON 16,318 A, IR BB &
SAERIIA 3,358| W thfnh, —PBaTH, PIRMT S FES
= EREETTUN 03[ T B e S 4
x FEA 1,930] fErEA B o o e A R FE S
& L = AN 16,403 RISk
B | A [ BEEEA— e 2RI 1,446 B 57
Iz ZFDLDIA 525| FEAF]ELE
K HEEEIOAGE (1) 44,483
5 N 36,5630| BkEH 5%
I | 3| S EE 10,447 B—T7T7 14—y h, B T, il FE
5'a R 1,342| HFEM S
| B EE 150] 723 17 H\V e E A4
B leds S 1,194 ShdbWniror RIT7 47 HIRB) 455
FEIEE S HE () 49,663
FEEHESINCSER 3)=(1D)-(2) A 5,180
(Z it U
L[ A S eI GE (4)
% | X
I [ it i FE i 25 S HEE (5)
* & it % HE A S AN S FE%E (6)=(4) - (5) 0
%HR ESAAEI PN NN 2
DL
it ZDBOEBL T (0 g
g P| 5 LR R 1,301 fEALRESAE T &%
& T [ A S S 3
B Z DOMOTEH) L HIE(8) 1,304
e ZOMOIEENE &I R (9= (1)-(8) A 1,302
T (10) 500] Tt
DG SN ARG ()= (3)+(6)+(9)-(10) A 6,982




